Q1.

The diagram shows a regular pentagon and a parallelogram.
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Work out the size of the angle marked x.
You must show all your working. o

(Total for question = 4 marks)
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RS and ST are 2 sides of a regular 12-sided polygon. Z
RT is a diagonal of the polygon. BMC LS of f0S A&

Work out the size of angle STR.
You must show your working. o

(Total for question = 3 marks)
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AE, DBG and CF are parallel.
DA = DB = DC.
Angle EAB = angle BCF = 38°

Work out the size of the angle marked x.

You must show your working.

Q4.

ABCDE is a regular pentagon.
BCF and EDF are straight lines.

Work out the size of angle CFD.
You must show how you get your answer.
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(Total for question = 3 marks)
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(Total for question = 3 marks)
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The diagram shows a regular octagon and a regular hexagon.

Find the size of the angle marked x

You must show all your working. .
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ABC and DEF are parallel straight lines. i, = (80—3% - [”
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Work out the size of angle x.
Give a reason for each stage in your working.

(Total for question = 5 marks)
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ABCD is a parallelogram.

EDC is a straight line. ZABF = 20°
F is the point on AD so that BFE is a straight line.
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Angle EFD = 35°

Angle DCB = 75°

Show that angle ABF = 70°
Give a reason for each stage of your working.

(Total for question = 4 marks)
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BEG is a triangle.
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ABC and DEF are parallel lines. C C sun ok )

Work out the size of angle x.
Give a reason for each stage of your working.

(Total for question = 4 marks)
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ABCDEFGH is a regular octagon.
ADJ is a straight line.
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angle BAD = angle CDA

Show that angle CDJ = 135°

(Total for question = 4 marks)
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In the diagram ABC and DEFG are parallel lines. o
Angle ABE = x° L QEEF = x

EB = EF (olbermbe 4;’)

Show that = . . %x
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Give a reason for each stage of your working.
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(Total for question = 4 marks)
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